practice2.nb

Differentiation practice Il

= 1 Compute the derivative.

flx_] = x° + wxt/7

x £[x]

= 2 Compute the derivative.

£[x ] =%x"3 + 3 (x°2 + n"2)
x £[x]

= 3 Compute the derivative.

flx_ ]=(x+1)%? (x?-5)
x £[x]
Expand [ %]

= 4 Compute the derivative.

£[6_] = (6% + Sec[6] +1)°
o £[6]
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= 5 Compute the derivative.

Ve
1 +'\/€

f£lt_] =

¢ £[t]
Together [%]

= 6 Compute the derivative. Remark: the traditional way of writing this function would be

f(x) = 2tan®(x) — 2 sec?(x)

f[x ] =2Tan[x]% - 2 Sec[x]?
x £[x]

m 7 Compute the derivative. The traditional way of writing this function
would be
1 n

sin’(x)  sin2mx)

£[x ] 1 7T
X = =
- Sin[x]? Sin[2 7 x]

« £[x]

= 8 Compute the derivative. The traditional way of writing this function would be

2
c0t3( — )
t2

2 3
£[x_] :=Cot| o2 ]

e £[t]
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= 9 Compute the derivative.

flo_] = Sin[‘\/Z o]

o £[6]

= 10 Compute the derivative.

flx_] = : x? Cot[x]2

x £[x]

m 11 Compute the derivative. The traditional form of the function would be

Vx 2ese((x + 1)%)

£lx_] :=Vx 2Csc[(x+1)3]
x £[x]

= 12 Compute the derivative. The traditional form of the function would be

Vx2es(x+1)

£flx_ ] =vVx 2¢csc[x+1]3
x £[x]

m 13 Compute the derivative. The tradtional form of the function
woud be

sin?(x?)
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= 14 Compute the derivative.

Sin[6]

f =
(e_l Cos[6] +1

e £[6]
Together [%]

= 15 Compute the derivative.

Sin[x /2] Sin[6]

f =
[e_1 Cos[6] +1

o £[0]

= 16 Compute the derivative.

f[x_] :=Sin[x] Vx2+1 *

x £[x]

= 17 Compute the derivative.

£[x_] =Cos|[ *']
x £[x]

= 18 Compute the derivative.

x £[x]
Together[ . f[x]]
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= 19 Compute the derivative. The traditional form would be

m 20 Compute the derivative.

£[x_] =Log[ *1;
« £[x]

m 21 Compute the derivative.

f[x_] = Tan[ Log[x]];
x £[x]

m 22 Compute the derivative.

X Cos [x]
x £[x]
Together [%]

m 23 Compute the derivative.

- ] 1 + Csc[x]
X =
[x_ 1 - Csc[x]

x £[x]
Together [%]
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= 24 Compute the derivative. Log[10,x] means log base 10 of x.

f[x_] = Log[10, x%];
x £[x]

= 25 Compute the derivative.

f[x ]=A **;p F=
x E[x]



